do / d m™™ [pb/GeV]

Ratio to ATLAS

13000 GeV pp
II'I'|'I'I

— L L O L L B DL I | | = 0
| — =
- — O
- M(ttbar) (ATLAS semileptonic ttbar) —13
B =
o
(QV
1 = =
- Jo
—
B e
. o
I | 0, | -] E
2>
10t £ —x
B - ]
N [ .
m 3
1072 — _— 3
— m  ATLAS mls
~— O Pythia 6.428 346 12
B Pythia 6.428 347 15
107% Pythia 6.428 348 ==
— Pythia 6.428 349 dc
~ —A— Pythia 6.428 370 18
)
- 15
S
-4
L = S U R I IO I I =
2 =2
1 1
0.5 B AN e, A _0.5
1 1 " | " 1 1 1 1 " | " 1 1 1 ..l.l " 1 " 1 " 1 " |
500 1000 1500 2000

mtbar{t} [G eV]



	Contents
	Page 1


